=X L{E DIN 1804

E= MY/HIE o]0]X]|
oY
THEL:
AHQIYA AR

AH|IQIBA AEI A2,

EM OpR2]:
EFQl W = Z% &t3t ot R 2,
EtQl H = Z3} %{2|, 408 Ho|A EH,

HH.
El2 HE LIAMME AQl5t 7 0|A BEtR{E|Eo] U&LICH 5 Ho|A
EMHE Adotx|o] U&LICEH

=0
——iI<—
™
Q
E= 2%

SX L{E, DIN 1804

HS Ef EA & £ JHIB D1 D2 D3 H H1 T
DIN 650

K1917.110 W A3t AE 5 M10x1 25 20 6 05 2
K1917.112 w A3t A&l 5 M12x1,5 28 23 6 05 2
K1917.114 w A3t AE 5 M14x1,5 30 25 7 05 2
K1917.116 w A3t AE 5 M16x1,5 32 27 7 05 2
K1917.118 W A5t AE 6 M18x1,5 34 28 8 05 25
K1917.120 w A3t A& 6 M20x1,5 3 30 8 05 25
K1917.122 W A3t AE 6 M22x1,5 40 34 9 05 25
K1917.124 w Zst A8 6 M24x1,5 42 36 9 05 25
K1917.126 w A3t A& 7 M26x1,5 45 38 10 05 3
K1917.128 w A3t AE 7 M28x1,5 50 43 10 05 3
K1917.130 W 7#st AE 7 M30x1,5 50 43 10 05 3
K1917.132 w A3t A8 7 M32x1,5 52 45 11 05 3
K1917.135 w A3t AE 7 M35x1,5 55 48 11 05 3
K1917.138 W 7#st AE 8 M38x1,5 58 50 11 05 35
K1917.140 w ast A& 8 M40x1,5 62 54 12 05 35
K1917.142 w A3t AE 8 M42x1,5 62 54 12 05 35
K1917.210 H a3 AE 5 M10x1 25 20 6 05 2
K1917.212 H 45t A€ 5 M12x1,5 28 23 6 05 2
K1917.214 H A3t AE 5 M14x1,5 30 25 7 05 2

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



K1917

°

==X L{E DIN 1804

EZS 29
=2 WS EFQ] ERYINES £ B D1 D2 D3 H H1 T

DIN 650
K1917.216 H ast AE 5 M16x1,5 32 27 7 05 2
K1917.218 H a3t A8 6 M18x1,5 34 28 8 05 25
K1917.220 H A3t A&l 6 M20x1,5 3 30 8 05 25
K1917.222 H ast AE 6 M22x1,5 40 34 9 05 25
K1917.224 H A3t AE 6 M24x1,5 42 36 9 05 25
K1917.226 H ZAst A&l 7 M26x1,5 45 38 10 05 3
K1917.228 H ast AE 7 M28x1,5 50 43 10 05 3
K1917.230 H A3t AE 7 M30x1,5 50 43 10 05 3
K1917.232 H B35t AE 7 M32x1,5 52 45 11 05 3
K1917.235 H ast AE 7 M35x1,5 55 48 11 05 3
K1917.238 H 43t AE 8 M38x1,5 58 50 11 05 35
K1917.240 H 7#st AE 8 M40x1,5 62 54 12 05 35
K1917.242 H ast AE 8 M42x1,5 62 54 12 05 35
K1917.310 - AHQIFA AEIA2 5 M10x1 25 20 6 05 2
K1917.312 - AE|QIEA ARIA2 5 M12x1,5 28 23 6 05 2
K1917.314 - AH|QIFA AEIA2 5 M14x1,5 30 25 7 05 2
K1917.316 - AHQIFA AEIA2 5 M16x1,5 32 27 7 05 2
K1917.318 - AE|QIEA AR A2 6 M18x1,5 34 28 8 05 25
K1917.320 - AH|QIFA AEIA2 6 M20x1,5 3 30 8 05 25
K1917.322 - AHQIFA AEIA2 6 M22x1,5 40 34 9 05 25
K1917.324 - AHQIFA AEIA2 6 M24x1,5 42 36 9 05 25
K1917.326 - AH|QIFA AEIA2 7 M26x1,5 45 38 10 05 3
K1917.328 - AHQIFA AEIA2 7 M28x1,5 50 43 10 05 3
K1917.330 - AHQIFA AEIA2 7 M30x1,5 50 43 10 05 3
K1917.332 - AH|QIFA AEIA2 7 M32x1,5 52 45 11 05 3
K1917.335 - AHQIFA AEIA2 7 M35x1,5 55 48 11 05 3
K1917.338 - AHQIFA AEIA2 8 M38x1,5 58 50 11 05 35
K1917.340 - AH|QIFA AEIA2 8 M40x1,5 62 54 12 05 35
K1917.342 - AHQIFA AEIA2 8 M42x1,5 62 54 12 05 35
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



